RETFAN 2RAENXN BFFE 02

1. ROFGBEAZEMBT. (S0, Ak15 108, Bik2520%, C#kdsy)

1 2_324=0 2 _ 4
(1) x (2) T %5
(3)  5z?=100 (4) 3622 =1
(5) 222-24=0 (6) 8x2-225=0
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2. ROFGEAZEMMF. (SHK40F, A1 10%, Bik23208, C#h4ds)

1 2_989 =10 2_ 9
(1) x (2) x %
(3) 1022 = 400 (4) 8l =1
() 222-36=0 (6) 2722 —196 =0
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1.

R#EATAN 2RAENX EBEXE 02 HBERES

KOSBAEMT. (S A0, AR 13108, BRk25y 208, CHasy)

(1) 22-324=0

x2 =324
r = +18
¥ 182 = 324

(3)  522=100

z? =20 <—jid =5
z = +v20
=425

(5)  222-24=0

222 = 24
z? =12 —iid + 2
x = +/12
x =423
Y V12 =22 x 3

= <« 3 -
x 36 Mid = 36
1
xr = _—
6
(6) 8x2-225=0
82 = 225
z? = 255 <Ml + 8
15 )
r=+— «— 152 =225
V8
_ .15
2v/2
o4 15X V2
2V2 x /2
_i15;/§
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2.

ROSTERZT. (SHA0F, A1 108, Bf2m 208, C#H4asy)

(1) 2?2 —289=0

x? = 289
xr = +17
¢ 172 = 289

(3) 1022 = 400

22 = 40 <~ = 10
z = +v/40
r = +2/10
¢ V40 = /22 x 10

(5) 222-36=0

222 = 36

2 =18

sc::t\/ﬁ

x=+3v2
Yo V18 =32 x 2

© -

(4)

(6)

2722 — 196 =0

2722 = 196

xr- =

14><\/§
r=t+———
3v3 x /3

x:i14$/§
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